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AW fordr ;-
General Instructions:

> el 50 UGl Bl
Total number of questions is 50.
> 3ft usell b 312 siforart 3l
All questions are mandatory.
> UcID Ul & [ee v 3i forerifde 8l
One mark is assigned to each question.
» UcId Ul & dR f[docy i3 s1e 2] 318l fddcu ol RIel DIfSI8] There are four options for each of
the question. Choose the correct option.
> BIcIA IR O o DS 31 o1d] I Sesl|

There is no negative marking for wrong answer.

1. AT o Tgel AL AL i o?

(@) =< FraTIoE (b) TS TwEISH
(c) @IS AT (d) ame e
Who wasthe first Governor General of India?

(a) Lord Cornwallis (b) Lord Dalhousie
(c) Lord Mountbatten (d) Warren Hastings

2. e FATS F LT T AT 9T F49 1 [ower B gyt oft?

(a) 3 firer (b) =feT gfedwa

(c) AT FHATH (d) S+ =

To whom did Lord Clive design the responsibility of preparing the map of India?
(a) James mill (b) Warren Hastings

(c) Lord Cornwallis (d) James Rennell

3. T g2 Aifa fhae &= #?
(a) 1€ FraTlorE (b) TIE SerETSIT



OEISCEEEIl (d) FE ATSeeT

Who started the Doctrine of Lapse?

(a) Lord Cornwallis (b) Lord Dalhousie
(c) Lord Wellesley (d) Lord Mountbatten
4. 3ET &Y aHRIa: faa dreRauet A dier TR 2

(o) T (b) IR

Ok () T

History is generally divided into how many periods?

(a) Five (b) Four

(c) Two (d) Three

5. Ic fafera™ el ford =g & o= o »

() X (b) HGA

(c) Pefbl REIEIET

Fort William Fort was built in which city?

(a) Surat (b) Madras

(c) Calcutta (d) Calicut

6. 1 GoarT gl T AT AT

(a) ST OEER)

(c) T (d) EFTTETE

Tipu Sultan was the ruler of?

(a) Bengal (b) Awadh

(c) Mysore (d) Hyderabad

7. YRd F 30T gRT frd ®ae o1 Wil for a1 & STaRA HRrdl Siredt ot -
(a) 8T (b) et

(o) T ORH



Which crop was forcibly cultivated by the British from the farmers in India?

(a) Paddy (b) Indigo

(c) Sugarcane (d) Wheat

8. et fereire el gatr om?

(a) 1831-32 %o (b) 1855 Zo
(c) 1895 £o (d) 1857 To

When did the Kol rebellion take place?

(a) 1831-32 AD (b) 1855 AD

(c) 1895 AD (d) 1857 AD

9. AT H Tgel Fel FA=T (e gl =i g2?

(a) F=TH (b) 72

(c) &I (d) Tz

Where was the first cotton textile mill established inindia?

(a) Madras (b) Mumbai

(c) Bengal (d) Surat

10. 1857 ¥ FiT T Agca L=T | (e [haT?

(a) ferETH=T (RECGIRRUFET
(c) Frzeg-arg (d) frerrar- et
Who led the revolt of 1857 in Ranchi?

(a) Birsa Munda (b) Vishwanath Shahdev
(c) Sidhu-Kanhu (d) Nilambar-Pitambar
11. FYTd, H3T 3R IR [ o9 &1 g SiHolaal g 2
(2) STR T ) foER

(o) fRHTEaT =T () IRV

Santhal, Munda and Oraon are the major tribes of which state?

(a) Uttar Pradesh (b) Bihar

(c) Himachal Pradesh (d) Jharkhand

12,1857 5. & fAGI8 T dlchIielcs HIRUT & UT 2
(a)aaﬁm%rﬁmnﬁ (b)@ﬂ%ﬁﬁw



(©) G AR faa=T ST (@ TS AT BRI DT HHATE

What was the immediate cause of the revolt of 1857?

(a) Prohibition of beard (b) Not getting leave
(c) Going abroad for war (d) Using fat cartridges

13. fob g GATAS b1 HRCTT FRI&M T AATHTET BT SIS 2
(a) 1835 o1 fRren sifefaag (b)@%ﬂ%ﬁir

(© 13IR 2 &1 @ STH Y Blg Aol

Which document isknown as the ‘Magna Carta’ of Indian Education?

(2) Education Act of 1835 (b) Woods Dispatch
(c) Both 1 and 2 (d) None of these
14, AT TAT 37 T HIA T 9T FHqH01 22
(a) TS AT (b) ATE TSt
(c) AT FTHATH (d) =1t faferaw dfew
Who is credited with abolishing the practice of Sati?
(2) Lord Canning (b) Lord Curzon
(¢) Lord Cornwallis (d) Lord William Bentinck
15. 390 A P T-YSY e TS &b USRI Jrafia ge
(a) ARTSTS 1RQ (b) SRS Gl

BLISHIRECIH (d) BRI QRET
Which of the following is relatedto the publication of the book 'Gender Comparison'?

(a) Tarabai Shinde (b) Jyotirao Phule

(c) Pandita Rambai (d) Harvilas Sharda

16. B3 foreram qAfdarg sfaf=am e au arg ge

(@) 1829 To (b) 1872 T o

() 1856 To (d) 1899 To

In which year the Hindu Widow Remarriage Act came into force?



(a) 1829 AD (b) 1872 AD

(c) 1856 AD (d) 1899 AD

17. AT FATST T =T R 9

DELEREFE:E] (b) TATHT faswTHE
(c) TATAE TTEAAT (d) TTSIT TR T
Who founded the Arya Samaj?
(a) Keshav ChandraSen (b) Swami Vivekananda
(c) Dayanand Saraswati (d) Raja Ram Mohan Roy

18. ST TSI 3 FHT AT T T TALA i IT?

(a) AT sl OEIEIEE
OEIEHEE] (d) =< wieTy

Who was the Governor General of India at the time of Bengal partition?
(a) Lord Curzon (b) Lord Minto

(c) Lord Irwin (d) Lord Montagu

19. P9 T T 5T < 3rRd wifd” & TH A Y ST g 2
(a) AT (AT M (b) TSN TR AT
() HRd BT 3T Ia o FIamma sr<iaq

Which of the following is also known as 'August Revolution'?

(a) Civil Disobedience Movement  (b) Non-Cooperation Movement

(¢) Quit India Movement (d) Khilafat Movement

20. YRWUS & DI I §leb! RAATS! 7 YR B! SNaies, fayery vd TR Qa i+ o
Uesd feam et I F JeR Q2

(a) ST Rig gal (b) HIZ®Hd fdoar
() Fa®I gem™ (d) 37T DSl

Which hockey player from Jharkhand has made India olympic and Asian Games all three? Who is a member of the

medal winning team?
(a) Jaipal Singh Munda (b) Michael Kindo

(c) Nikki Pradhan (d) Ajit Lakra



21. IS P Gl a TR Ug o are Ugal eI H I A1 g 2
(a) SHRBT (b) EiG|

(c) HRd @ =Y
Which is the first country to reach the south pole of the moon?
(a) America (b) China

(c) India (d) Russia

22. U] I fpg PR b 1Y HTIERUT g 2
(a) STAIHUNT T (b) TAIHRUNT T

(o HFa Afdd g (&) THTS Y
Wind mill is an example of which type of resource?
(a) Non-renewable resources (b) Renewable Resources

(¢) Man-made resources (d) Potential Resources

23. FIAT o THTE T THTET 2
(a) TARTOT (b) =TT BEEE] (d) St

Coal is what type of resource?

(a) Renewable (b) Cyclic  (c) Abiotic  (d) Biotic

24, TS FHTee T IUANT 37T ST w27 21 aur ey g of v ST 27 3% "9ras 7 4T Fwd

(a) FATST (b) ATEET

OEEIG] (d) ufaEaaefier

What is a resource called which is being used and whose quantity is also known?
(a) Potential (b) Actual

(¢) Unknown (d) Variable

25. ATREE § Roq THATT TEA AT IqeAT A9\ e ol orer / 82
(a) TATH ORERE
(c) AR (d) TTHET



In which district is 'Betla National Park’, the only national park situatedin Jharkhand?
(a) Palamu (b) Simdega

(c) Latehar (d) Gumla

26. HRA & 3IRe Told 1sro (GO GRT 3+ 8T 81 A 1 1 frr dgd R guherd]
Tdeh I HT IR Nl T

(2) IS -2 o) 32
(©) IS -3 @ e

Which mission was successfully sent to the moon by India's space agency ISRO recently?

(2) Chandrayaan-2 (b) Agni-2
(c) Chandrayaan — 3 ) Aditya

27. A IR IUAK] Hd STt b1 o1 Ufar=ra o= i g
() 30 fTRIA () 1s Hfo=Ta

(©) 27 UfaRrd (d) sﬂﬁ@[aﬁéﬂﬁ

What percentage of the total water available on earth is potable?

(a) 30 percent (b) 15 percent
(c) 2.7 percent (d) None of these

28. A 1Tt faep T o1 for o graifia & -
(@) S BIUSE b) AFHIY

ARl FIRATHET (o Hgaaa
Pradhan Mantri Kaushal Vikas Yojana is related to which of the following?

(a) Children's Education (b) From the soldiers

(c) Skill Development of Youth (d) All of the above

29. 578 Y DI T B B! b THT Hel Sdl 82
(@) SIS (b) U
(c) hUNH (@) dldd

Which of the following crops is called white gold?

(a) Jute (b) jute



(c) Cotton (d) Rice

30, TP R [P AT A grafia g

(a) 3R ITGA (b) XRTH TG
(¢) HYARI! T (@ Bl I Wt
What is apiculture related to?

(a) Grape production (b) sericulture

(¢) Beckeeping (d) Floriculture

31. 370 A TRIATYREd & BRI 52
(a) STHGR (b) YR

(©) JaN (@ SUgad Tt
Which of these is due to population change?

(a) Birthrate (b) Death rate

(c) Travel (d) All of the above

32. STOTT FolT o ICATEA o (o1 = | & Foheent ITTRT R Strar g2
(a) TIATH  (b) FAT (o) T (ORER

Which of the following is used for production of atomic energy?

(a) Uranium  (b) Coal (c) Water  (d) Wind

33, 3T AT A § ST H1U & F7E A0 F S| 14T 82
(a) TEET (b) FremT (c) TTT (d) ==

By what name is shifting agriculture in north-eastern India known?

(a) Ladang (b) Milpa (c) Roka (d) Jhum

34.2011 T STRTOTAT o SAHTY WL T SIAEEAT HAqcd ohadT g2
(a) 314 (b) 382 (c) 414 (d) 350

What is the population density of India according to the 2011 census?

(a) 314 (b) 382 (c)414 () 350

35. IR 38 ToTe it arfere foam 22



(a) ITATHE ORESIRE?
OKEIRED (4) =Tqer®

What type of economic activityisindustry?

(a) Primary (b) Secondary

(c) Tertiary (d) Quaternary

36. WL U 99 Y e oA

(a) 15 3T 1947 (b) 26 STALT 1950
() 2 FFZAT 1869 () 15 TEAST 2000
When did India become a sovereign nation?

(a) 15 August 1947 (b) 26 January 1950

(c) 2 October 1869 (d) 15 November 2000
37, TR gTT Y& At TRt il 9T Fhawr 82

@) 7 (b) 6 ()8 d) s

What is the number of fundamental rights provided by the Constitution?

(@7 (b) 6 (©8 (5
38, 3TSITET & 9I¢ R A fh g I8 Bl UM UG Id B U=
(a) ASTAATH D U UG fdl b) SIS A

(¢) &N AT TSI (@ SUgad Taft

What type of governance system did India adopt after independence?

(a) Monarchical form of government (b) Parliamentary rule

(c) Presidential form of government (d) All of the above

30, R Tfaem e & @WW%‘?

() UHTRTE ) fp el U 4 b ufa e

© TBIRh g Ui b AT IDAE () TTHADIS I8!

How is the Indian constitution regarding religion?
(a) Secular (b) Bigotry
(c) Only people of Hindu religion can live here (d) None of these

40. HRT B UYH AR guH &1
(a) TR AT (b) U HT <t g utfed
(o) TfTTTITER (@) ST TeR

Who was the first woman prime minister of India?



(a) Sarojini Naidu (b) Pratibha Devi Singh Patil

(c) Sonia Gandhi (d) Indira Gandhi
4 TRBR B Sgfaemsii & fore T el 4 o g
(a) Y (b) adrg

© gl @ STHADIS TR

Where does the government get the money for public utilities?

(a) Tax (b) Farming
(c) From police (d) None of these
22, 378 Y S YR Hga ol 3T Y efdrd 8

(2) HOTHAT, TTTH Td gerTet (b) YT, TG H], fae=gHT
() B H], T HI, TUT AP @ STHYDIS TaT

Which of the following is related to the three organs of the Indian Parliament?

(a) ChiefMinister, Prime Minister and Prime Minister
(b) President, Rajya Sabha, Legislative Assembly

(c) Lok Sabha, Rajya Sabha, and President

(d) none of these

43, ATHTAT H qIET1 6T Atershan a1 Fohawr i #7182

(a) 543 (b) 545 (c) 552 (d) 250

What is the maximum number of members fixed in the Lok Sabha?

(a) 543 (b) 545 (c) 552 (d) 250

44, ATTAT LT o 369 =g o T SAEYLAAT HT I+qA (AT AT 82
(a) 17 (b) 15 (c) 29 (d) 30

By which article of the Indian constitution untouchability has been abolished?

() 17 (b) 15 (c) 29 (d) 30

45, FIA-ET AT TS AIGATSN T (79[ TACTSIT () FelarerTd ITAsH FHLTd & HaATed 82
(a) TETAHAT FLEAT FTHT TTSIAT (b) TEATTHAT STra ST TSI
(c) T AYfg AT (d) TLTAHT ISqAT TS0

46. SR T = AT} D el TS fbail g 2

(a) 24 (b) 22

©) 16 d 14

What is the total number of High Courts in the country?

(a) 24 (b) 22

©) 16 d 14

47. FIRAWP. 33, 3R ) HTHd BIH T8I 82
(a) P SAHHLARTE b PR AR ROE
(c)WU?IﬁQI?ﬁ'Cﬁ'é (d Sﬂﬁﬁﬁé:ﬁﬁ

What is the full form of FIR?



(a) First Information Report (b) First Investigation Report
(c) First Formation Report (d) None of these

4. O GG S TS, 311 & BRI # Iie g €, T8 e & ot i
9Teg Ugad [T 1T 82

(a) FHTSHTHRUT (b) BTRATHRT

() SIYRIT @ FTH Y PIS T

Which termis used for the communities which are left behind in development due to poverty, illiteracy?

(a) Socialization (b) Marginalization
(c) Untouchability (d).None of these

49, ALHTT F TFT | FATHT THEATSA il [T o [T Teh godd Tz a7 & AT g =9
ATSTE GoTATSH T Ha¥ FT 82

(a) 1091 (b) 1967 (c) 1098 (d) 1950
The government has started a helpline number to complain about problems relatedto children. What is the number
of this child helpline?

(a) 1091 (b) 1967 (c) 1098 (d) 1950

50. o dam Ao faaw e fafer 61 s smar 22

(a) 31 AT (b) 31 91
(c) 31 ATH (d) 30 T
On which date is World No Tobacco Day celebrated?

(a) 31 July (b) 31 May

(c) 31 March (d) 30 April
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